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General marking principles for Higher Chemistry 

Always apply these general principles. Use them in conjunction with the detailed marking 
instructions, which identify the key features required in candidates’ responses. 

(a) Always use positive marking. This means candidates accumulate marks for the
demonstration of relevant skills, knowledge and understanding; marks are not deducted for
errors or omissions.

(b) If a candidate response does not seem to be covered by either the principles or detailed
marking instructions, and you are uncertain how to assess it, you must seek guidance from
your team leader.

(c) Do not award half marks.

(d) Where a candidate makes an error at an early stage in a multi-stage calculation, award
marks for correct follow-on working in subsequent stages, unless the error significantly
reduces the complexity of the remaining stages. Apply the same principle for questions
that require several stages of non-mathematical reasoning. The exception to this rule is
where the marking instructions for a numerical question assign separate ‘concept marks’
and an ‘arithmetic mark’. In such situations, the marking instructions will give clear
guidance on the assignment or partial marks.

(e) Unless a numerical question specifically requires evidence of working to be shown, award
full marks for a correct final response (including units) on its own.

(f) Candidates may fully access larger mark allocations whether their responses are in
continuous prose, linked statements, or a series of developed bullet points.

(g) Do not deduct marks for inaccurate or unconventional spelling or vocabulary as long as the
meaning of the word(s) is conveyed. For example, responses that include ‘distilling’ for
‘distillation’, or ‘it gets hotter’ for ‘the temperature rises’, are acceptable.

(h) In many questions, the unit in which the answer is to be expressed is given. In these
questions, the candidate does not need to state a unit in their answer; but if they do, the
unit must be correct. The full mark allocation cannot be awarded if an incorrect unit is
shown. In these questions, incorrect units would only be penalised once in any paper.

(i) If a correct response is followed by a wrong response, award no marks. For example in
response to the question, ‘State the colour seen when blue Fehling’s solution is warmed
with an aldehyde’, do not award marks for the response ‘red green’. However, if a correct
response is followed by additional information which does not conflict with that, ignore
the additional information, whether correct or not. For example in response to a question
concerned with melting point, ‘State why the tube should not be made of copper’, the
response ‘Copper has a low melting point and is coloured grey’ would gain marks.

(j) Award full marks for the correct response to a calculation without working. Award partial
marks, as shown in the detailed marking instructions, when working is given but the final
response is incorrect. An exception is when candidates are asked to ‘Find, by calculation’ -
do not award full marks for the correct response without working.

(k) Ignore the omission of one H atom from a full structural formula provided the bond is
shown.

(l) Award marks for a symbol or correct formula in place of a name unless stated otherwise
in the detailed marking instructions.
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(m) When formulae of ionic compounds are given as responses, candidates only need to show
ion charges if these have been specifically asked for. However, if ion charges are shown,
they must be correct. If incorrect charges are shown, do not award marks.

(n) If an answer comes directly from the text of the question, do not award marks. For
example, in response to the question, ‘A student found that 0·05 mol of propane, C3H8

burned to give 82·4 kJ of energy. C3H8(g) + 5O2(g) → 3CO2(g) + 4H2O(ℓ). Name the kind of
enthalpy change that the student measured’, do not award marks for ‘burning’ since the
word ‘burned’ appears in the text.

(o) A guiding principle in marking is to give credit for correct elements of a response rather
than to look for reasons not to give marks.

Example 1: The structure of a hydrocarbon found in petrol is shown below.

Name the hydrocarbon 
• Award the full mark for ‘3, methyl-hexane’, although the punctuation is not correct.

Example 2: A student measured the pH of four carboxylic acids to find out how their 
strength is related to the number of chlorine atoms in the molecule. The results are 
shown. 

CH3COOH 1.65 

CH2ClCOOH 1.27 

CHCl2COOH 0.90 

CCl3COOH 0.51 

Describe the relationship between the number of chlorine atoms in the molecule and the 
strengths of the acids. 
• Award the full mark for a response such as ‘the more Cl2, the stronger the acid’,

although not completely correct.

(p) Unless the question is clearly about a non-chemistry issue, for example costs in an
industrial chemical process, do not award marks for a non-chemical response.
For example, in response to the question, ‘Why does the (catalytic) converter have a
honeycomb structure?’, do not award a mark for ‘To make it work’. This response may be
correct but it is not a chemical response.
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(q) Only award marks for a valid response to the question asked. Where candidates are asked
to:
• identify, name, give or state, they must only name or present in brief form.
• describe, they must provide a statement or structure of characteristics and/or

features.
• explain, they must relate cause and effect and/or make relationships between things

clear.
• compare, they must demonstrate knowledge and understanding of the similarities

and/or differences between things.
• complete, they must finish a chemical equation or fill in a table with information.
• determine or calculate, they must determine a number from given facts, figures or

information.
• draw, they must draw a diagram or structural formula, for example ‘Draw a diagram to

show the part of a poly(propene) molecule formed from two propene molecules.’
• estimate, they must determine an approximate value for something.
• predict, they must suggest what may happen based on available information.
• evaluate, they must make a judgement based on criteria.
• suggest, they must apply their knowledge and understanding of chemistry to a new

situation. A number of responses are acceptable: award marks for any suggestions that
are supported by knowledge and understanding of chemistry.

• use their knowledge of chemistry or aspect of chemistry to comment on, they must
apply their skills, knowledge and understanding to respond appropriately to the
problem/situation presented (for example by making a statement of principle(s)
involved and/or a relationship or equation, and applying these to respond to the
problem/situation). Candidates gain marks for the breadth and/or depth of their
conceptual understanding.

• write, they must complete a chemical or word equation, for example ‘Write the word
equation for the complete combustion of ethanol.’
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Marking instructions for each question 

Question Expected response Max 
mark Additional guidance 

1. (a) (i) Increasing greater/stronger/larger 
nuclear charge (holds electrons more 
tightly). 

OR 

Increasing number of/more protons. 

1 Increased nuclear pull is not 
accepted on its own. Mention must 
be made of nuclear charge or 
number of protons.  
Increased attraction of electron for 
the nucleus would be considered 
cancelling.  

(ii) b or j 1 A correct letter must be shown. 

(iii) 
(A) 

Second ionisation energy involves 
removal of an electron from an 
electron shell that is inner/ 
full(whole)/(more) stable/closer to 
the nucleus. 

OR 

Second electron is removed from an 
electron shell that is inner/ 
full(whole)/(more) stable/closer to 
the nucleus.                       (1 mark) 

The second electron is less 
screened/the second electron shell 
is less screened. 

OR 

The second electron is more strongly 
attracted to/pulled towards the 
nucleus.  (1 mark) 

2 Correct statements made about the 
1st ionisation energy/electron can 
also be credited. 

Stating that the 2nd electron requires 
more energy than the 1st electron is 
not sufficient on its own. 

Shielding is acceptable in place of 
screening. 

Increased attraction of the electron 
for the nucleus would be considered 
cancelling. 

(iii) 
(B) 

11472 (kJ mol-1) 1 No units required. No mark can be 
awarded for correct answer if wrong 
unit is given (where no unit 
required, wrong units would only be 
penalised once in any paper). kJ is 
acceptable in place of kJ mol−1 (KJ 
or Kj or KJ mol−1 or Kj mol−1 
accepted). 
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Question Expected response Max 
mark Additional guidance 

(b) (i) Electronegativity is the (measure 
of) attraction an atom/nucleus has 
for the electrons in a bond/shared 
electrons. (1 mark) 

1 

(ii) (More shells so) increased 
screening/more screening. (1 mark) 

(Covalent radius increases/atom size 
increases/more shells so) attraction 
of the nucleus/protons for the 
(outer/shared) electron(s) 
decreases. (1 mark) 

2 Shielding is acceptable in place of 
screening. 

Increased attraction of the electron 
for the nucleus would be considered 
cancelling. 

(iii) Barium 

OR 

Radium 

OR 

Strontium 

1 Correct symbols accepted. 

1.
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Question Expected response Max 
mark Additional guidance 

2. (a) (i) (Intermolecular/van der Waals) 
forces increase (going down the 
group). (1 mark) 

LDFs are the forces (broken between 
the molecules). (1 mark) 

The more electrons the stronger the 
LDFs. (1 mark) 

3 

(ii) Hydrogen bonding 1 

(b) (i) (+) 34 (kJ mol-1)
[(+1517) + (-911) + (-572)] = (+) 34 (kJ 
mol-1 ) 

Partial marks  
Treat as two concepts. Either would 
be acceptable for 1 mark.  

Evidence of understanding of 
reversal of first enthalpy value ie 
+1517 or 1517 must be seen. The
other two enthalpy values
(regardless of value) must be
negative, or this partial mark cannot
be awarded.

OR 

Evidence of understanding of 
multiplying the third enthalpy value 
by 2. Ignore the enthalpy sign 
associated with these numbers. 

2 If answer given is −34, maximum of 1 
mark can be awarded. 

No units required. Only 1 mark can 
be awarded for the correct answer if 
wrong unit is given. (wrong units 
would only be penalised once in any 
paper). kJ is acceptable in place of 
kJ mol−1 (KJ or Kj or KJ mol−1 or Kj 
mol−1 accepted). 

(ii) 39.9/ 40 (%) (2 marks) 

Partial marks 

Calculates theoretical mass 
= 6.4 (g) (1 mark) 

OR 

Correctly calculates no of moles 
reactant (0.2) and product (0.08)  

(1 mark) 

2 
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Question Expected response Max 
mark Additional guidance 

2. (b) (iii) In SiO2 covalent bonds are broken. 
(1 mark) 

In SiH4 Van der 
Waals/LDFs/intermolecular forces 
are broken.   (1 mark) 

Covalent bonds need more energy to 
break than van der Waals/LDFs/ 
intermolecular forces. 

OR 

Covalent bonds are stronger than 
van der Waals/LDFs/intermolecular 
forces. (1 mark) 

3 

A correct description of the relative 
strength of covalent bonds and van 
der Waals/LDFs/intermolecular 
forces is accepted for this mark. 
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Question Expected response Max 
mark Additional guidance 

3. (a) (i) 
(A) 

propane-1,2,3-triol 1 propan-1,2,3-triol is accepted  

Apply general marking principle (o) 

(i) 
(B) 

Condensation/ esterification 1 

(ii) 
(A) 

Carbonyl 1 

(ii) 
(B) 

heptan-2-one 1 

(ii) 
(C) 

Reduction 1 Accept hydrogenation 

(ii) 
(D) 

(reaction) 1 1 

(iii) 1 

(iv) 
(A) 

12 – 13 (minutes) 1 No units required. Only 1 mark can 
be awarded for the correct answer if 
wrong unit is given. (wrong units 
would only be penalised once in any 
paper). 

(iv) 
(B) 

dilute sample/use less of sample 1 

(b) (i) Essential (Amino acids) 1 

(ii) 1 

(iii) (The protein) denatures/denatured 1 

(c) To prevent non-polar and polar 
liquids separating (into layers) 

1 

(d) Calcium propanoate 1 
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Question Expected response Max 
mark Additional guidance 

4.   Award 1 mark where the candidate 
has demonstrated, at an appropriate 
level, a limited understanding of the 
chemistry involved. They have made 
some statement(s) which are 
relevant to the situation, showing 
that they have understood at least a 
little of the chemistry within the 
problem.  
 
Award 2 marks where the candidate 
has demonstrated, at an appropriate 
level, a reasonable understanding of 
the chemistry involved. They make 
some statement(s) which are 
relevant to the situation, showing 
that they have understood the 
problem.  
 
Award 3 marks where the candidate 
has demonstrated, at an appropriate 
level, a good understanding of the 
chemistry involved. They show a 
good comprehension of the 
chemistry of the situation and 
provide a logically correct answer to 
the question posed. This type of 
response might include a statement 
of the principles involved, a 
relationship or an equation, and the 
application of these to respond to 
the problem. The answer does not 
need to be ‘excellent’ or ‘complete’ 
for the candidate to gain full marks.  
 
Award 0 marks where the candidate 
has not demonstrated, at an 
appropriate level, an understanding 
of the chemistry involved. There is 
no evidence that they have 
recognised the area of chemistry 
involved, or they have not given any 
statement of a relevant chemistry 
principle. Award this mark also if the 
candidate merely restates the 
chemistry given in the question. 

3  
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Question Expected response Max 
mark Additional guidance 

5. (a) (i) 
(A) 

494.08, 494.1, 494 (litres)   
494080, 494100 cm3 
 
Partial marking 
 
Calculating the mass of glucose in 
16L ie 1852.8 (g). (1 mark) 

OR 

Number of moles of glucose in 16L 
10.29 (moles) (or correctly 
calculated number of moles from 
incorrectly calculated mass of 
glucose). (1 mark) 
 
An incorrectly calculated number of 
moles of glucose × (2 × 24). (1 mark) 

OR 

by proportion 
 
180g           ↔          48L (1 mark) 
 
Calculated mass ↔ Calculated mass  ×  48 
of glucose           of glucose               180 

(1 mark) 
 
Failure to scale up to 16 litres of 
glucose solution but correct use of 
50cm3 and 5.79 g and 1:2 mole ratio 
will give an answer of 1.544 litres of 
carbon dioxide. This would be 
awarded 2 marks.  
(working must be shown) 

3 No units required. Only 2 marks can 
be awarded for the correct answer if 
wrong unit is given. 
 
(Wrong units would only be 
penalised once in any paper). 
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Question Expected response Max 
mark Additional guidance 

5. (a) (i) 
(B) 

51, 51.1 (%) 
 
Partial mark for correct use of atom 
economy relationship without 
correct use of stoichiometry 
(working must be shown). 
 
46

×100
180

 = 25.6 (1 mark) 

OR 

Partial mark for correct working with 
no correct answer given. 
 
( )   2 46

100
180
×

×  

 
0.51 (1 mark) 

OR 

Partial mark for correct use of atom 
economy relationship with correct 
use of stoichiometry (working must 
be shown) for carbon dioxide  
 
 

44
2× ×100

180
 

 
= 48.9 % (1 mark) 

2 No units required. Only 1 mark can 
be awarded for the correct answer if 
wrong unit is given. 
 
(Wrong units would only be 
penalised once in any paper). 
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Question Expected response Max 
mark Additional guidance 

5. (a) (ii) 12, 12.2, 12.22 (% / abv) 
 
Partial mark for correctly calculated 
change in specific gravity.  
1.075-0.985 or 0.09. (1 mark) 
 
Partial mark for correctly calculated 
value using an incorrect value for 
change in specific gravity. (1 mark) 

2 Ignore any units. 
 
 
 
 
 
 
 
 

 (b) (i) Acidified dichromate changes from 
orange to green (blue-green/ blue) 
with methanol AND no colour change 
would be observed with propan-2-
one.                             (2 marks) 

OR 

Using hot copper oxide a brown solid 
forms/copper forms/colour change 
from black to brown would be 
observed with methanol AND no 
colour change would be observed 
with propan-2-one.  (2 marks) 

2 Acidified dichromate (1 mark) 
 
Hot copper oxide (1 mark) 
 
 

  (ii) 
(A) 

Terpene(s) 1  

  (ii) 
(B) 

 
 
Only one correct unit needed. 

1  

  (ii) 
(C) 

Ethanoic acid/acetic acid 1  

 (c)  2100 (1 mark)  mg (1 mark) 

OR 

2·1 (1 mark)   g (1 mark) 

OR 

0-0021 (1 mark)  kg (1 mark) 

2 If an incorrect mass is calculated but 
the units are appropriate to the 
calculation then 1 mark would be 
awarded. 
 
If the candidate’s working is unclear 
in terms of what is being worked out 
then the mark for units cannot be 
awarded. 
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Question Expected response Max 
mark Additional guidance 

6. (a) (i) 
(A) 

 

1  

  (i) 
(B) 

Activated complex 1 Accept activation complex or 
transition state. 

  (ii) n HNO3  = 1316 x 9.5 = 12502 moles 

AND 

n NH3  = 220x103 / 17   = 12941 
(1 mark) 

 
1:1 ratio therefore NH3 is in excess  

(1 mark) 

OR 

12502 HNO3 moles requires 12502 
moles NH3 but have 12941 moles 
therefore NH3 in excess.    (2 marks) 
--------------------------------------------- 
 
1316 l of HNO3 needs 212.5 kg NH3  

 

(1 mark) 

OR 

220 kg NH3 needs 1362.2 l HNO3 

(1 mark) 

OR 

12502 HNO3 moles requires 12502 
moles NH3 but have 12941 moles 
                                          (1 mark) 

OR 

12941 moles NH3 requires 12941 
moles HNO3 but only have 12502 
moles HNO3 
                                          (1 mark) 
 
Therefore, NH3 is in excess  

(1 mark) 

2  
 
 
 
 
 
Accept correct statement for 
incorrectly calculated values using 
1:1 ratio. 
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Question Expected response Max 
mark Additional guidance 

6. (a) (iii) It has 100% atom economy 

OR 

Only has 1 product 

1  

 (b) (i) 
(A) 

The total number of molecules/ 
particles. 

1  

  (i) 
(B) 

Second line displaced to right of 
original. Peak of curve should be 
further to the right and no higher 
than the original peak. 

1  

  (ii) A vertical line drawn at a lower 
kinetic energy than the original Ea 

shown on graph. 

1  

 (c) (i) The rate of the forward reaction 
equals the rate of the reverse 
reaction. 

1  

  (ii) 
(A) 

(Removal of ammonia/product will) 
shift equilibrium to right hand side. 
 (1 mark) 

OR 

Increases the yield of ammonia. 
 (1 mark) 
 
 
Decreases the rate of the reverse 
reaction. (1 mark) 

OR 

The rate of the forward reaction is 
then greater than the rate of the 
reverse reaction. (1 mark) 

2  
 
 
 
 
 
 
 
 
 

  (ii) 
(B) 

Recycles unreacted  
gases/ reactants. 

OR 

Uses a catalyst (to reduce energy 
costs). 

OR 

Air is a low cost/free resource. 

1  

 (d) (i) 4NH3  +  3O2    2N2  + 6H2O 1 Any correct multiple is accepted. 
 
Ignore any state symbols if given. 

  (ii) Ammonia/NH3 1  
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Question Expected response Max 
mark Additional guidance 

7. (a) (i) Hard (water) 1  

  (ii) Hydrophilic 1 Polar is not accepted. 

  (iii) 0.000837 (mol l-1) (3 marks) 
 
Partial marks can be awarded using 
a scheme of two “concept” marks, 
and one “arithmetic” mark. 
 
1 mark for knowledge of the 
relationship between moles, 
concentration and volume.  
This could be shown by one of the 
following steps:  

• Calculation of moles EDTA 
solution eg 0·0045 × 0·0093 = 
0·00004185 

• Calculation of concentration 
of calcium ions eg 
0·00004185 ÷ 0.05 

• Insertion of correct pairings 
of values for concentration 
and volume in a valid 
titration formula. 

If the relationship between moles, 
concentration and volume is used 
more than once, it must be used 
correctly every time. 
  
1 mark for the relationship between 
a calculated number of moles of 
EDTA and calcium ions. 

OR  

Insertion of correct stoichiometric 
values in a valid titration formula. 
 
1 mark is awarded for correct 
arithmetic through the calculation. 
This mark can only be awarded if 
both concept marks have been 
awarded. 

3 No units required. Only 2 marks can 
be awarded for the correct answer if 
wrong unit is given. 
 
(Wrong units would only be 
penalised once in any paper). 
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Question Expected response Max 
mark Additional guidance 

7. (b)  

 
 
4.4 to 5.4 

OR 

Accurate reading from candidate’s 
drawn line of best fit if value given 
is out with the range 4.4 to 5.4. 

1 No units required. No mark can be 
awarded for the correct answer if 
wrong unit is given. 
 
(Wrong units would only be 
penalised once in any paper). 
 
 
 
 
 
 
 
 
 
 
 

 (c) (i) Trichloromethane is polar and 
tetrachloromethane is non-polar. 
                                          (1 mark) 
 
 
Trichloromethane has a permanent 
dipole and tetrachloromethane does 
not.                                    (1 mark) 

2  
 
 
 
 
Correct description of a permanent 
dipole is accepted. 
 
 

  (ii) -14 (kJ mol-1) 
 

Partial marks: 
 
Evidence of the use of all the 
correct bond enthalpies (or correct 
multiples thereof) (338, 412, 431, 
484, 570 (ignore signs). (1 mark) 

OR 

If only four values are retrieved, the 
candidate recognises that bond 
breaking is endothermic and bond 
formation is exothermic and 
correctly manipulates the bond 
enthalpy values they have used to 
give their answer. (1 mark) 

2 (+)14 (kJ mol-1) would be awarded 1 
mark. 
 
No units required. Only 1 mark can 
be awarded for the correct answer if 
wrong unit is given. kJ is acceptable 
in place of kJ mol−1 (KJ or Kj or KJ 
mol−1 or Kj mol−1 accepted). 
 
(Wrong units would only be penalised 
once in any paper). 
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Question Expected response Max 
mark Additional guidance 

8.   Award 1 mark where the candidate 
has demonstrated, at an appropriate 
level, a limited understanding of the 
chemistry involved. They have made 
some statement(s) which are 
relevant to the situation, showing 
that they have understood at least a 
little of the chemistry within the 
problem.  
 
Award 2 marks where the candidate 
has demonstrated, at an appropriate 
level, a reasonable understanding of 
the chemistry involved. They make 
some statement(s) which are 
relevant to the situation, showing 
that they have understood the 
problem.  
 
Award 3 marks where the candidate 
has demonstrated, at an appropriate 
level, a good understanding of the 
chemistry involved. They show a 
good comprehension of the 
chemistry of the situation and 
provide a logically correct answer to 
the question posed. This type of 
response might include a statement 
of the principles involved, a 
relationship or an equation, and the 
application of these to respond to 
the problem. The answer does not 
need to be ‘excellent’ or ‘complete’ 
for the candidate to gain full marks.  
 
Award 0 marks where the candidate 
has not demonstrated, at an 
appropriate level, an understanding 
of the chemistry involved. There is 
no evidence that they have 
recognised the area of chemistry 
involved, or they have not given any 
statement of a relevant chemistry 
principle. Award this mark also if the 
candidate merely restates the 
chemistry given in the question. 

3  
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Question Expected response Max 
mark Additional guidance 

9. (a) (i) The more carbons/longer carbon 
chain the higher the boiling point.  
 (1 mark) 
 
 
 
 
The further down group 7/the 
halogen is the higher the boiling 
point.                                 (1 mark) 

2  
 
 
 
 
 
 
Reference to group 7 molecule is 
cancelling. 

  (ii) Permanent dipole- Permanent dipole 
interactions. 

1 Allow permanent dipole-dipole 
interaction. Accept pd-pd i’s. 

 (b) (i) The halogen/bromine (atom) is 
attached to a carbon that is 
attached to two other carbons. 

OR 

The halogen/bromine (atom) is 
attached to a carbon that has only 
one hydrogen attached. 

1   

  (ii) 

 

1 Accept shortened structural formula 

 (c) (i) Ultraviolet/UV (radiation/light) 1  

  (ii) 1 mark for one of the following 

•CH3 + Br• → CH3Br 

•CH3 + •CH3 → CH3CH3 

Br• + Br• → Br2 

1  

 (d)  

 

1 Accept shortened structural formula 

 (e)  2-bromo-3-chloro-1,1,1-
trifluoropentane 

1 Apply general marking principle (o) 
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Question Expected response Max 
mark Additional guidance 

10. (a)  Tare the balance with the crucible. 
 (1 mark) 
 
Transfer 1·5 g (into the crucible). 
 (1 mark) 

OR 

Tare a weighing boat, transfer the 
1.5 g onto the weighing boat. Record 
mass. Transfer into the crucible.  
 (1 mark) 
 
Reweigh the weighing boat and 
record the mass/calculate the 
difference. (1 mark) 

OR 

Weigh mixture and weighing boat, 
record the mass. Transfer mixture 
into the crucible. (1 mark) 
 
Reweigh the weighing boat and 
record the mass/calculate the 
difference.  (1 mark) 
 
Weigh the crucible (empty) 
and then with (1.5 g of) mixture.  
 (1 mark) 
 
Subtract the mass of crucible from 
mass of crucible and mixture. 
 (1 mark) 

2 Accept use of a filter paper/paper 
towel/watch glass or other 
appropriate container instead of a 
weighing boat. 
 
 
 

 (b) (i) Allow CO2/gas to escape. 1  

  (ii) Reactants/products/mixture are not 
flammable. 

1  
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Question Expected response Max 
mark Additional guidance 

10. (c)  0.582, 0.58 (g) (2 marks) 
 
Partial marking 
 
Calculating number of moles of CO2 

(0.0069).  (1 mark) 
 
Calculating mass of MgCO3 from 
incorrectly calculated number of 
moles of CO2.  (1 mark) 

2  

 (d) (i) Diagram shows a workable method 
of generating gas with mixture in 
contact with acid. Labels required 
for mixture/powder/magnesium 
oxide + magnesium carbonate and 
(excess) acid. 

1  

  (ii) Carbon dioxide is (relatively) 
insoluble/has very low solubility (in 
water). 

1  

 
 
 
 

[END OF MARKING INSTRUCTIONS] 


	General marking principles for Higher Chemistry
	Expected response for Question 1 (a)
	Expected response for Question 1 (b)
	Expected response for Question 2 (a) to 2 (b) (ii)
	Expected response for Question 2 (b) (iii)
	Expected response for Question 3
	Expected response for Question 4
	Expected response for Question 5 (a) (i) (A)
	Expected response for Question 5 (a) (i) (B)
	Expected response for Question 5 (a) (ii) to 5 (c)
	Expected response for Question 6 (a) (i) to 6 (a) (ii)
	Expected response for Question 6 (a) (iii) to 6 (d)
	Expected response for Question 7 (a)
	Expected response for Question 7 (b) to 7 (c)
	Expected response for Question 8
	Expected response for Question 9
	Expected response for Question 10 (a) to 10 (b)
	Expected response for Question 10 (c) to 10 (d)


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Gray Gamma 2.2)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.3

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends false

  /DetectCurves 0.0000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 100

  /Optimize false

  /OPM 1

  /ParseDSCComments false

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage false

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness false

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts false

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

    /3Of9Barcode

    /Goudy

    /Goudy-Bold

    /Goudy-BoldItalic

    /Goudy-Italic

    /Helvetica

    /Helvetica-Bold

    /Helvetica-BoldOblique

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages false

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages false

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages false

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)

  /PDFXOutputConditionIdentifier (CGATS TR 001)

  /PDFXOutputCondition ()

  /PDFXRegistryName (http://www.color.org)

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /DAN <>

    /DEU <>

    /ESP <>

    /FRA <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /PTB <>

    /SUO <>

    /SVE <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /BleedOffset [

        0

        0

        0

        0

      ]

      /ConvertColors /NoConversion

      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)

      /DestinationProfileSelector /UseName

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles true

      /MarksOffset 6

      /MarksWeight 0.250000

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /UseName

      /PageMarksFile /RomanDefault

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /LeaveUntagged

      /UseDocumentBleed false

    >>

    <<

      /AllowImageBreaks true

      /AllowTableBreaks true

      /ExpandPage false

      /HonorBaseURL true

      /HonorRolloverEffect false

      /IgnoreHTMLPageBreaks false

      /IncludeHeaderFooter false

      /MarginOffset [

        0

        0

        0

        0

      ]

      /MetadataAuthor ()

      /MetadataKeywords ()

      /MetadataSubject ()

      /MetadataTitle ()

      /MetricPageSize [

        0

        0

      ]

      /MetricUnit /inch

      /MobileCompatible 0

      /Namespace [

        (Adobe)

        (GoLive)

        (8.0)

      ]

      /OpenZoomToHTMLFontSize false

      /PageOrientation /Portrait

      /RemoveBackground false

      /ShrinkContent true

      /TreatColorsAs /MainMonitorColors

      /UseEmbeddedProfiles false

      /UseHTMLTitleAsMetadata true

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [595.276 841.890]

>> setpagedevice





